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filzy, 22, an) = Zzilfth:o
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fa(z1,20,...,28) = Z Ti Ty, — a2 =0
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filzy, 22, an) = Zzil +a1 =0
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11 <t2<---<iN

o &, 83—, kWb 3THDOK — EffxxE B T KFEIZRSOTWET.

(38] lim |2® —2z)|=0 — [E] lim |2 —z|=0
k— o0 k—o0

e 5%, 96—, ME4D21TH — [FIE?2) % R3] CTTEET IV,
(8] M@E2TEERLAZ-7T0r754 —  [E] ME3THERLEZTBTI A
e 6, 98 =Y, WS 11 FFHOR — RDB&H, R KV o BAHT—=IZHB->TEY E£9. XTIV (KF) 12
TBIETRX W,

(8] A(cv) =cAv =c(l) = Acv) —  [E] A(cv) = cAv = c(Av) = Acew)
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DEBU || ARSI ML (f) | AR T.(f) | AR S.(f)
1 1 052 2 0.95 3 0.032
2 2 013 3 026 5 0.0022
4 4 0.033 5 0.066 9 0.00014
8 8 0.0083 9 0.017 17 0.0000086
16 16 0.0021 17 0.0042 33 0.00000054
32 32 0.00052 33 0.0010 65 0.000000034
(E]
DEB || AR M (f) | BARE Ta(f) | AR S.(f)
1 1 095 2 20 3 0.032
2 2 0.26 3052 5 0.0022
4 4 0.066 5 013 9 0.00014
8 8 0.017 9 0.033 17 0.0000086
16 16 0.0042 17 0.0083 33 0.00000054
32 32 0.0010 33 0.0021 65 0.000000034
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